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Run 5159 quartetwise, PosHelAccl/NSamplas0

=== Laser O -—
Entries: 8256
Mean: 20,3245 «/- 00305
Sid Dhey: 27658 +~ 00276

=== Lager OFF ---
Entries: 9d&1
Mean: 58511 «~ 0.0034
Sid Dhey: 03264 -~ 00024

Run 5158 quartatwize, Diffs)

=== Laser O -—
Enlries: 8236
Mean: 08E26 +- 0.0103
Sid Dhey: 09367 - 00073

=== Laser OFF ---
Entries: 9d&1
Mean: 00025 +- 0.0036
Sid Dey: 03544 - 00026

Run 5159 quartetwise, Asyms(

=== Laser ON -—
Enlries: 8236
Mean: 314447 &/- 03670
Sid Dev: T3.3754 40~ (L2600

=== Laser OFF ---
Entries: 9461
Mean: 00900 +- 0.1208
Sid Dev: 126253 +/- L0916
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Run 5158 quartetwize, NegHalAcc)/NSamplas0

=== Laser O -—-
Enlries: 8X36
Mean: 19,4419 /- D02EE
Sid Dhew: 25924 & 00202

=== Lager OFF ---
Entries: 9461
Mean: 58486 «/- 0.0033
Sid Dev: 03220 - 00023

Run 5159 quartetwize, Sums0

=== Laser O -—-
Eniries: 8236
Mean: 39,7664 /- DU06&2
Sid Dhev: 52706 &~ 0.0411

== Laser OFF ---
Entries: 9461
Mean: 11,6957 /- 00056
Sid Dev: 0.5430 &~ 0.00%9
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Run 5153 quartetwise, PosHelAccd

— Lasar O —
Erlnes: 32358
Main: N1 IR +- HEITE 1080
Sad Dwre: BT IEE 2284 =0 BEOT N 4E]R

— Lassar OFF —
Erlnia: HET
Main: 2ET248] 355 «i J0ELETY
S Dre: T7S0E1. 5233 4 ETIT.5AIT

1 1 1 =10

Run 5159 quartetwise, Diffgd
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— Lasar O —
Crlnia: 3358
Mann: 2790781 JEET & IO TS
Sd Dwre: ZE10068 3163 = 2TES0E1T

— L OFF —
Cnlnea: HET
Maan: 12635060 = S1E1L47

25 Uwre: FESEL1ATE +/- 24T 000

- 1 ] 1 Rl

Run 5158 quartetwize, Asymsd

=== Laser ON -—
Enlries: 8236
Mean: 31.5325 «/- 03496
Sid Dev: 31,7230 4/~ (L2472

=== Laser OFF ---
Entries: 9461
Mean: 00145 +- 0.0565
Sid Drey: 540371 4~ 00393
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Run 5158 quartetwise, NegHalAccd
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Enlnes: 3238
Mann: JE85506 7. 42000 +- MR BLIIE0
= Dire: E1594710 0384 &0 B1B4 T AEL

— Lussar OFF —
frlnia: MET
Main: 28T 140 50687 « - J2ES 51832

S Dhwre: TFTIIE SGTH +/- TV T.s953
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Run 5153 quartetwize, Sums4
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Run 5152 quartetwize, Asyms USbgl

=== Laser O -—
Entries: 8256
Mean: -0.0052 «- 0U00E
St Dhey: 02818 -~ 00022

=== Lager OFF ---
Entries: 9d&1
Mean: -0.0078 - QLO0D2S
Sid Dhey: 027865 - 00021

h
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Lt M 1
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Run 515% quartetwize, Asyms DSbg1

F%n;ﬁﬂmm -] 1
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=== Laser O -—
Enlries: 8236
Mean: 00006 «- 0.0011
Sid Dhey: 00961 - 00007

=== Laser OFF ---
Entries: 9d&1
Mean: -0.0010 «- 000D
Sid Dey: 00956 +~ 00007

Run 515% quartetwise, Asyms Horiz Fingar

=== Laser ON -—
Enlries: 8236
Mean: 00025 +- 0.0034
Sid Dey: 0I0ET - 00024

=== Laser OFF ---
Entries: 9461
Mean: -0.0044 < Q004G
Sid Dey: 04477 4 000X
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Run 5158 quartetwise, Asyms LIShg2

=== Laser O -—-
Enlries: 8X36
Mean: 00001 «/- Q0022
Sid Dhey: 02025 &~ 0006

=== Lager OFF ---
Entries: 9461
Mean: 000020 +/- 0.0
Sid Dheyv: 02059 - 00015

|

=y

Run 5158 quartetwize, Asyms DShg2

=== Laser O -—-
Eniries: 8236
Mean: -0.0004 «- 00010
Sid Dev: 0L0EEY - 00007

== Laser OFF ---
Entries: 9461
Mean: 00002 +/- 0.0005
Sid Deyv: 0.0E93 - 0.0006

Run 5158 quartetwise, Asyms Vert Finger

=== Laser O -—-
Eniries: 8236
Mean: 00056 +- 0.0027
Sid Dev: 02456 - 00079

== Laser OFF ---
Entries: 9461
Mean: -0.0016 «- 00T
Sid Dev: 03195 «- 0.0023
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Run 5159 guartetwize, summi vs time
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Run 5159 quartetwise, posH4 vs time
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Run 5159 quartetwize, posH4 vs time
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15

0

0

al o

o

Lo

_

jaac]

Run 5158 quartetwise, asymdsub vs time
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Run 5159 guartetwize, summdd vs time
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Run 5159 gquartetwize, USbg2 ve time

Run 5159 quartetwize, USbg1 ve time
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Run 5159 quanetwizse, horizFing vs tima

Run 5159 quaretwise, variFing vs timea
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